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L e t  me b e g i n  by  d i s p e l l i n g  a n y  n o t i o n s  a s  t o  t h e  u n b i a s e d n e s s '  
o f  t h i s  r e v i e w .  B e f o r e  o b t a i n i n g  Mr. S t e w a r t s '  p a p e r ,  I h a d  
s t r o n g  o p i n i o n s  on how an i n s u r a n c e  c o m p a n y  s h o u l d  f u n c t i o n  
i n  a p e r f e c t  f r e e  e n t e r p r i s e  s e t t i n g  a nd  t h e  a p p r o p r i a t e  w a y s  
t o  m e a s u r e  i t s  s u c c e s s .  U n d e r  t h e  g u i s e  o f  p u t t i n g  t h i n g s  i n  
p e r s p e c t i v e ,  I w i l l  p r e s e n t  some o f  t h e s e  i n i t i a l  b i a s e s .  I n  
t h e  r e v i e w  I w i l l  c o n c e n t r a t e  on t h e  b r o a d e r  c o n c e p t s  an d  n o t  
t r y  t o  v e r i f y  t h e  n u m e r i c a l  r e s u l t s .  I t  i s  i m p o r t a n t  t o  n o t e  
also, that my review is oriented toward stock insurance 
companies. 

U n d e r  I d e a l  C o n d i t i o n s  

Let's assume we have a free enterprise system with no rate 
regulation. Assume we also have readily available, all the 
management information we could want (e.g. cash flow patterns, 
etc.) and that the information is based on a large enough sam- 
ple t o  b e  c r e d i b l e .  L e t  o u r  b a s i c  p r e m i s e  b e :  " t h e  m o s t  v a l i d  
m e a s u r e  o f  r e s u l t s  f o r  a s t o c k  c o m p a n y  i s  r e t u r n  on s u r p l u s . "  
G i v e n  t h i s  p r e m i s e  t h e  f o l l o w i n g  p r o c e d u r e s  w o u l d  b e  u s e d  t o  
s e t  r a t e s :  

1)  E a c h  c o m p a n y  w o u l d  c h o o s e  i t s  own " t a r g e t  r a t e  o f  r e t u r n . "  
T h i s  t a r g e t  i s  a c o m p l e x  f u n c t i o n  o f  many  v a r i a b l e s  an d  i s  
s t r o n g l y  r e l a t e d  t o  t h e  p r e v a i l i n g  r i s k / r e w a r d  r e l a t i o n s h i p s .  
A c o m p a n y  may c h o o s e  t o  b e  a " g o - g o "  g r o w t h  c o m p a n y ,  a c o n -  
s e r v a t i v e  " g r o w  with t h e  market and minimize rink" company 
o r  m o s t  c o m m o n l y ,  s o m e w h e r e  b e t w e e n  t h e  t w o .  I f  t h e  i n s u r a n c e  
b u s i n e s s  w i l l  n o t  a l l o w  t h e  c o m p a n y  t o  a c h i e v e  i t s  t a r g e t ,  i t  
c a n  i n v e s t  i t s  s u r p l u s  i n  s o m e t h i n g  e l s e  t h a t  w i l l .  

2 )  E a c h  c o m p a n y  w o u l d  s e t  i t s  i n v e s t m e n t  p h i l o s o p h y  an d  p o l i c i e s  
c o n s i s t a n t  w i t h  i t s  t a r g e t  r a t e ,  i t s  i n c o m e  t a x  s t a t u s ,  n e e d  
f o r  l i q u i d i t y ,  e t c .  N o t e  t h a t  t h e  i n v e s t m e n t  p h i l o s o p h y  
d e t e r m i n e s  t h e  a m o u n t  o f  s u r p l u s  r e q u i r e d  t o  p r o t e c t  a g a i n s t  
a d v e r s e  i n v e s t m e n t  e x p e r i e n c e .  The  i n v e s t m e n t  p o l i c y  a l s o  
d e t e r m i n e s  an  e x p e c t e d  y i e l d  r a t e  f o r  e a c h  d o l l a r  i n v e s t e d .  

3)  E a c h  c o m p a n y  w o u l d  s e t  up " r e q u i r e d  s u r p l u s "  s t a n d a r d s  f o r  
e a c h  l i n e .  T h i s  r e q u i r e d  s u r p l u s  s e r v e s  t o  p r o t e c t  a g a i n s t  
an adverse operating ratio. Within a company, the variations 
among lines are related to the inherent risk differences. 
The differences between companies in required surplus for a 
llne are a function of both the quality of the policy port- 
folio and the conservatism of the company. 

4) For each llne of business it writes, a company should con- 
struct a cash flow model. This model gives the amount of 
cash available for investment at each point in time. 
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5) 

6) 

To price a line of business a company regards the surplus 
required as a loan (to the line of business) that must 
yield the target rate of return. The explicit profit and 
contingency load I in the rates is that number whlch when 
included in the rate yields the target rate of return.2 

A d j u s t m e n t s  (+ o r  - )  a r e  t h e n  made  t o  b a s i c  p r i c i n g  f o r  
competitive reasons. 

Effect of Regulation 

The role of insurance financial regulation in the ideallzed 
picture above is very limited. There may be some extreme limits 
on investment policy which if exceeded would endanger solvency. 
There are likewise limits on the premlum writings that can be 
supported by a given surplus. Note that each company chooses 
its own target and with only the broad solvency-oriented regula- 
tory limits on investments and capacity pursues its goals under 
the rules of a free market place. 

Let's suppose now that in our idealized order someone suggests 
(for whatever reasons) that the investment return not accrue 
solely to the benefit of the insurer. To still achieve the tar- 
get rate of return, the insurer would have to increase the profit 
load in an amount sufficient to offset the loss of investment 
income. The result would be the same net cost to the insured 
and same return to the insurer. The question of who owns the 
investment income is, therefore, meaningless as long as a truly 
free market exists where insurers can pursue a target rate of 
r e t u r n .  

But  g o i n g  f r o m  o u r  i d e a l i z e d  o r d e r  t o  t h e  r e a l  w o r l d ,  o n e  m u s t  
come to grips with rate regulation. Rate regulation is a re- 
striction on the rate of return allowed to an insurer. Yet the 
specific regulation cases seldom if ever discuss reasonable 
total rate of returns. 

Mr. S t e w a r t ' s  P a p e r  

Mr. S t e w a r t ' s  p a p e r  d e a l s  w i t h  two  m e t h o d s  c u r r e n t l y  b e i n g  d i s -  
cussed as ways for incorporating investment income into the 
ratemaking process. The paper does a good Job in its brief list- 
ing of the traditional arguments pro and con of each method, but 
the reader should keep in mind throughout the paper that the goal 
of advocates of these methods is rate reduction, not rate 
i m p r o v e m e n t .  

May be positive or negative 

Although the profit load is removed evenly over the exposure 
period, the required surplus is very uneven. This is due to 
its three functions-covering investment risk (which can corre- 
spond to long term reserves), covering insurance risk, and 
covering negative cash flow. 
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T h e  t w o  m e t h o d s  d i s c u s s e d  a r e  v a s t l y  d i f f e r e n t  i n  t h e i r  d e g r e e  o f  
sophistication, as Mr. Stewart recognized. From a theoretical 
s t a n d p o i n t  t h e  " o w n e r s h i p "  m e t h o d  h a s  l i t t l e  t o  r e c o m m e n d  i t .  I t  
d o e s  h a v e  t h e  a d v a n t a g e  o f  u s i n g  a v a i l a b l e  d a t a ,  b u t  g i v e s  l i t t l e  
c o l a t e r a l  b e n e f i t s .  T h e  " c a s h  f l o w  m e t h o d " ,  h o w e v e r ,  h a s  b o t h  
t h e o r e t i c a l  b e n e f i t  a n d  g i v e s  u s e f u l  m a n a g e m e n t  i n f o r m a t i o n .  
H o w e v e r ,  t h e  " c a s h  f l o w "  m e t h o d  r e q u i r e s  c a s h  f l o w  d a t a  n o t  s o  
r e a d i l y  a v a i l a b l e  f o r  m o s t  c o m p a n i e s .  I c o u l d n ' t  h e l p  w o n d e r i n g  
how s t a b l e  a n d  c r e d i b l e  t h e  a v e r a g e  c a s h  f l o w  c u r v e  w o u l d  b e  
c o n s i d e r i n g  i t s  d e v e l o p m e n t  b y  c o m p a n y  b y  s t a t e  b y  l i n e .  

As discussion continues to shift from "whether investment income 
should be considered in ratemaking" to "how should investment be 
considered in ratemaking," papers such as this will gain impor- 
tance. In the final decision the insurance industry support will 
not be based on theoretical Justifications but on the pragmatic 
criterion - "Which method gives an answer we can live with?" 
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